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Discussion  
1 Discussion 
In this contribution, we provide a short input on the EIRP accuracy. This is partly in response to the WF proposed in [1] that was noted in our previous meeting of RAN4#76bis. We follow the methodology that has been agreed thus far: 
· A 3 error model consisting of: transceiver accuracy, steering error and array error; 
· Root sum square of the three error sources.
	Error Sources
	Values (±)
	Note

	Transceiver Accuracy
	[2] dB
	Current AAS specifications retain many existing conducted requirements from non-AAS such as EVM, Transmit Power etc. The objective is to ensure equivalent level of performance and compliance as non-AAS BS. We have used [ ] to indicate that any revision of this value should be applicable and a-priori approved for non-AAS BS first, to ensure consistency.

	Steering Error
	1.0 dB
	Plotting the gain std deviation vs. phases std deviation at elements with normal distribution, 0 mean (i.e. beam at boresight). Phase error of 3-sigma of 120 deg and magnitude error of 2 dB, the total gain std deviation is 1dB. 

Similarly, with Steering error of 0.5 dB, from the graph below with the total gain std deviation set to 0.5 dB, the 3-sigma phase error is ~80 deg or 1-sigma of ~27 deg. 
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	Array Error
	1.0 dB
	The achieved uncertainty is directly linked to the size and cost of the test measurement range. 

	Total (Root Sum Square)
	[2.45] dB
	The bracket is due to the transceiver accuracy. 


2 Summary   

We propose that the above values are taken into consideration in the overall averaging of inputs from various companies. On the specific methodology in the averaging process, we agree as well with Option 3 of [1]:
· Transceiver accuracy is set as 2dB according to conducted output power accuracy. Other two error sources (steeringerror and arrayerror) is obtained by averaging all of proposed values from companies. Derive accuracy value as Root sum square of above the three values.
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